Student N

Answers: Work Space

Length, width and height of a rectangular
prismare 2 em, 3 cm and 4 cm
respectively. Find the surface area of a
prism

Answer: 52 cm”

Length of the rectangular prism is 4 ft.
Height = Width = 3 feet. Find the surface
area of a prism.

Answer: 54 ft°

The dimensions of a rectangular prism
are 24 cm x 20 em x 15 ecm. Find surface
area of a rectangular prism.

Answer: 2280 ecm’

Find the surface area of a rectangular
box with length 3.5 feet, width 3 feet
and height 2.5 feet.

Answer: 26.75 ft’

Length = 2.4 yards; Height = 3.6 yards;
Width = 4.2 yards.

Find the surface area of a rectangular
prism.

Answer: 67.68 yd’
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